Pr@wise

Assembly Manual
Prowise Wall Lift

[ ] [ ]

000O0OO0OOOO0OOCOOO 000O0O0O0O00O0OCQOOOO

0o0o00O0OOOO0OOCOOO 0o0O0O0O0OD0O00OCOOOO




PreOwise

InClUded Only use the supplied materials!

A

VESA mounting plate for mounting a 9000000000000 —— 0000000000000
Prowise multi-touch screen

[=E==1=X=) [=X=X=] [=X=X=} [=E=X=X=X=)

000000000000O0O0 0000000000000
B + 2 mounting brackets for mounting the
Prowise multi-touch screen
* 8 x M8x20 bolts en 8 x M8 washers 8 x @ 8 x
» 2 X M5x8 for securing the Prowise multi-
[oocooooooo 00000000000000000 |
touch screen to the lift.
2% |c>c>c>c>c>c>c>c>c> ooooooooooooooooo|
C - Liftbase, including: . .
- Control unit s .
- Controller
- Power strip
= =
-
Attention! ' ' — H
Screws / plugs for attatching the lift to the wall /

baseboard are not included. Type screws / dowels
depend on the wall / baseboard.

D -+ Keyboard Tray ( J




See back side for required tools

Attach the keyboard
tray (D) to the lift (C)

/ with the previously
installed screws.

Attach the lift (C)

— to the wall and Zxﬂitnxs =
baseboard with the

=0 appropriate screws /

=0 plugs \

If necessary, the
elevator can also be
mounted in the floor.
Attention! Not with
underfloor heating!

2 x 2 x M8x20 bolt + ™
2x2xM8washer — |

;

Ce=f || |2

X3

C==o-- |

L 1. Fix the screen with the
brackets (B) to the VESA
plate (A).
Attach the control to the side Attach the brackets (B) to 2. Secure the screen with the
of the Prowise Multi-touch the Prowise Multi-touch supplied screws

screen. screen. 3. Bolts to level the lift.




. —
Required Tools 9
 Allenkey4+6+8
e Phillips screwdriver PH2
* RingWrench 17

| 4+6+8 PH2 @ 17
Pr@wise
Prowise B.V.

Luchthavenweg 1b
6021 PX Budel
The Netherlands
Tel. 431495497110
info@prowise.com

www.prowise.com




